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Answer all Five questions from Group B, each question 

carries 4  marks.
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State and explain the construction and operation of 

a JFET.

electrical shocks. Explain in brief.

(a) Zener diode

(b) Energy meter

(c) Fuse

(d) Induction motor

OR
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1. Choose the most suitable answer from the following

options :1x20=20

(ii)

(i)

(i)        The ratio of voltage and electric current in a

closed circuit

(a) Remains constant

(b) Varies

(c) Increases

(d) Decreases

The principle of statically induced emf is 

utilized in

(a) A transformer

(b) A motor

(c) A generator

(d) A battery 

(b) Describe the construction and operation of a 

      single phase transformer.

OR” gates with its symbol and truth table. Also 

compare it with electrical circuits.

10.

8                    
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(iii)

(iii)

(iv)

(ii)

The basic function of a transformer is to
change:
(a) The level of the voltage
(b) The power level
(c) The power factor
(d) The frequency

The force experienced by a current carrying
conductor lying parallel to a magnetic field
is: 
(a) HIL  

(b)  BIL sinq
(c)  0
(d)  BIL

(i)

(ii) 

(iv) 

     diode and explain it.

(b) What do you mean by Donor and Acceptor 

      impurities in semi conductors? Explain in brief.

(a) V-I 

9.

8                    
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     i = 42.42 sin628t. 

Determine 

(i) Rms value 

(ii) Average value 

(iii) Form factor 

(iv) Peak factor

(b) State and Explain the working principle of 

      D.C. motor 

        i = 42.42 sin628t 

OR
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(v)

(v)

(vi)

(iv)

Kirchoff’s current law is applicable to 
only 
(a) Electronic circuits
(b) At junction in a network
(c) Electric circuits
(d) Closed loop in a network

In a delta network each element has resistance
R. The value of each element in equivalent 
star network will be:
(a)  3R
(b)  R/6
(c)  6R
(d)  R/3
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(vii)

(vii)

(viii)

(vi)

The condition for the validity of ohm’s law
is that the:
(a) Current should be proportional to the 
      voltage
(b) Voltage should be proportional to the
      current
(c) Temperature should remain constant
(d) All of the above

The following relationship between a & b 
are not correct:
 
(a)
  
(b) 
 
(c)
  
(d) 

1- a =
  
1

1+b
  
b

1-b a =
  
a

1-ab
  
b

1+b
a =

1602104/01204/P01204

8 x 5 = 40
Answer all Five Questions. 

OR

State and explain star-delta from formation.

Derive on expression for star to delta transformation

and delta to star transformation.

accumulator (battery).

of a transistor? With neat and clean circuit diagram

explain biasing of a transistor.

7.

8                    

8                    

8.
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(ix)

(ix)

(x)

(viii)ab

1- a =
  
1

1+b
  
b

1-b  a =
  
a

1-a b

  
b

1+b a =

The yoke of a small D.C. generator is made
of cost iron as it:
(a) Gives mechanical protection to the machine
(b) Is cheaper
(c) Completes the magnetic path
(d) All of the above

The emf of primary cell depends upon the
(a)  Nature of electrolyte
(b)  Nature of electrode
(c)  Physical dimension of a cell
(d)  Both (a) and (b)

1502104/01204/P01204

Write down the care and maintenance of lead acid

battery.

What do you mean by LED. Explain their operation

in details.

OR

OR

6.

4                     
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(xi)

(xi)

(xii)

(x)

In a semiconductor, the movement of holes is
due to:
(a) Movement of electrons in conduction band
(b) Movement of electrons in valence band
(c) Movement of holes in valence band 
(d) Movement of holes in conduction band 

FETs have similar properties as:
(a)  Uni-junction transistor
(b)  Thermionic valves
(c)  NPN transistor
(d)  PNP transistor

1402104/01204/P01204

State and explain flux, flux density, reluctance and

permeability.

      hexadecimal number.

(b) Convert the octal number 205 to binary.

(a) 

neat diagram.

4.

4                     
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(xiii)

(xiii)

(xiv)

(xii)

The Boolean equation for OR gate is:

(a) A +B = C

(b) A - B = C

(c) A .B = C

(d) None of these

The gate which is called universal gate is:

(a)  OR gate

(b)  NOR gate

(c)  NOT gate

(d)  AND gate

1302104/01204/P01204

Describe the working of zener diode as a voltage

regulator.

induction.

Derive an expression for the force due to a current

carrying straight conductor at a point.

3.

4                     
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(xv)

(xv)

(xvi)

(xiv)

Which color represents digit 7 in ren’s for

color code:

(a) White

(b) Blue 

(c) Violet

(d) Green

The house hold energy meter is:

(a)  An indicating instrument

(b)  A recording instrument

(c)  An integrating instrument

(d)  None of these

1202104/01204/P01204

Answer all Five Questions. 

2.

4 x 5 = 20

(xx)

State and explain Kirchoff’s current law with neat 

diagram.
4                     
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(xvii)

(xvii)

(xviii)

(xvi)

On which of the following effects of electric

current a fuse operates?

(a) Photoelectric effect

(b) Electrostatic effect

(c) Heating effect

(d) Magnetic effect

What is the maximum number of lighting 

points that can be connected in a circuit.

(a)  5

(b)  10

(c)  8

(d)  12

1102104/01204/P01204

The type of internal wiring used in domestic
installation are:
(a) Cleat wiring
(b) CTS/RTS wiring
(c)  Metal /PVC conduct wiring
(d) All of the above

A fuse element should have.............melting
point:
(a) High
(b) Low
(c) Both (a) & (b)
(d) None of the above

(xviii)

(xix)

(xx)

(xix)
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